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Problem 1 (20 points)

The input to a particular stable LTI filter with frequency response
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is a DT wide-sense stationary (WSS) process w[-] whose power spectral density (PSD) is
Sww(€??) = 9 for all Q. Denote the output of the system at time n by y[n].

1(a) (5 points) Find a first-order difference equation relating the input and output of the
system, and also explicitly determine the unit-sample response h[n| of the system. (Do this
carefully, as other answers will depend on it!) As a check, explicitly compute ) h[n] and
compare the value you get with what you should expect for the given H (e’ Q) Is the system
causal?



1(b) (5 points) Determine the mean E{y[n|} = u, and the autocorrelation E{y[n+mly[n]} =
R, [m] of the WSS output process y[-]. Your answer for the autocorrelation function should
be written out explicitly, not left as an integral or sum. If you’ve done things correctly, you
should find that the variance of y[n] is 12; verify this explicitly.

You may find it helpful to recall the following identity for geometric series:
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1(c) (10 points) Specify completely the linear minimum-mean-square-error (LMMSE) causal
one-step predictor for the process y[-]. This predictor forms the LMMSE estimator y[n + 1]
for y[n + 1], using all values of y[k] for k£ < n. One way to do this is using your input-output
equation from (a) to conjecture the form of this predictor, and then to verify your conjecture
using the orthogonality condition that characterizes LMMSE estimation. Another way is to
design an appropriate causal Wiener filter.

Use either of the above approaches to find the predictor, showing the main steps of your
calculation. [If you have time at the end of the exam, then for 3 points of extra credit,
find the predictor using the other way too, and check that you get the same answer either
way.|

Using either of the approaches mentioned above, determine the minimum mean square error
(MMSE) associated with the predictor. Could the correct answer for the MMSE be larger
than 127



1(c) continued:



1(c) continued further: You can do the extra credit part here and on the next page, if
you have time at the end.



1(c) continued still further:



Problem 2 (24 points)
Summarizing the problem statement, the received signal is
r[n] = Ap[n] +v[n] ,

where A is a random variable that is chosen by the transmitter; the receiver only knows the
mean p4 and variance 0% of A. Assume A is uncorrelated with the wide-sense stationary
(WSS) white-noise process v[-] whose intensity is given to be o2, i.e., Syy(e/?) = o2 for all
Q. Also take p[-] to be a known signal of finite energy

EZZpQ[n].

With f[n]| denoting the unit sample response of the receiver filter, we define

B=Y" filrl=n] =AY flnlpl—n)) + (3 flnfo[—n]) = A+ V,

n=—oo

where

a=Y fllpl-nl, V=3 finlvl-n].

F=> fn].

Also

2(a) (4 points) Determine the mean and variance of V, and the cross-covariance o4y of A
and V. All your answers can be written in terms of o, and F.



2(b) (6 points) Determine the mean and variance of B, the cross-covariance o4p of A and B,
and their correlation coefficient pap, all expressed in terms of the problem parameters and
the simplified notation introduced above.



2(c) (4 points) Write down the LMMSE estimator of A that uses a measurement of B, i.e.,
find v and p in
A=vB+pu
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so as to minimize E[(A — A)?]. Again, your answers should be expressed in terms of the
problem parameters and the simplified notation introduced above.
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2(d) (10 points) The minimum mean-square-error (MMSE) associated with the estimator in
2(c) can be written as

0,24(1 - 0,243) .
Express this in terms of the problem parameters and the simplified notation above, and note
that only a and F in your expression are affected by how we choose the filter f[n]. Use your
expression to show clearly and carefully that the MMSE is minimized if o /F is made as large
as possible

(Continued on next page ..... )
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2(d) continued:
The Cauchy-Schwartz inequality can be used to show that
o2

> <¢
f— b

with equality if and only if

for any nonzero constant ¢, which we can take to be 1 without loss of generality here. Note
that with f[n] = p[-n], we get « = £ = F. Using this, rewrite your expressions for the
minimum MMSE and for the constants v and p in the LMMSE estimator in 2(c), in terms
of just pa, o4, 0y and &.

(Continued on next page ..... )
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2(d) continued further: As a check on your answers, explicitly verify that your rewritten
expressions on the preceding page behave reasonably as the parameters take various extreme
values (pick at least three sets of extreme cases to check).
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Problem 3 (20 points)

Summarizing the problem statement, suppose under hypothesis Hy the random variable X
is distributed uniformly in the interval [—2,2], while under hypothesis H; it is distributed
uniformly in the interval [—1,1]. The Neyman-Pearson (NP) decision rule announces ‘H;’ if
the likelihood ratio

_ fxyu(z|Hy)

~ fxyu(x|Ho)

exceeds a properly selected threshold 7, i.e., if A(z) > n; and announces ‘Hy’ if the likelihood
ratio falls below the threshold, i.e., if A(z) < n.

A(z)

3(a) (4 points) Sketch A(z) as a function of = for —2 < z < 2.
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3(b) (6 points) For 7 fixed at some value in each of the following ranges, specify Pp and Pg4:

1. n at some value strictly below 0.
2. n at some value strictly between 0 and 2.

3. n at some value strictly above 2.
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3(c) (10 points) Suppose we choose 7 = 2. What is the probability that we get A(X) = 2 if
Hj holds? And what is the probability we get A(X) = 2 if H; holds?

(Continued on next page ..... )
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3(c) continued: With n = 2, you should see from the above computations that we will never
get A(x) > n, but we might well get A(z) =n or A(x) < n. Suppose we still announce ‘Hy’
when A(z) < n; however, when A(z) = n we shall announce ‘H,’ with probability «, and
otherwise announce ‘H7’. What are Pr4 and Pp with this randomized decision rule? Explain
carefully.

(Continued on next page ..... )
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3(c) continued further: Draw the ROC that you get as a varies from 0 to 1, and also
include the three points on the ROC that you computed in 3(b).
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Problem 4 (36 points)
4(a) (12 points) A DT zero-mean wide-sense-stationary (WSS) process e[ - | has autocorrela-

tion function )
sin(mm/3)

Ree[m] = T ;

for m # 0, and R..[0] = 7/3. The process z|-] is defined by the relation

for all n. Show that z[-] is WSS, and sketch its power spectral density (PSD) S, (e/®?) in
the region || < 7. Is z[-] also jointly WSS with e[-]?

(Continued on next page .....

19



4(a) continued:
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4(b) (12 points) The C/D converter in the figure below is a standard sampling converter,
so zg4[n] = z.(nT1). The D/C converter is an ideal bandlimited interpolating converter with
reconstruction interval T5. The frequency response of the DT system is

_ 9

Hy(el) T

for | < 7. With T, = T7, and if

omt
ze(t) = cos<ﬁ> ,

what is y.(¢)? If now we make Th = 27 but keep everything else the same, what is y.(t)?

zaln] —waln]
z.(t)— C/D o Hy(e'—— D/C —— y.(t)
7, I,
(Continued on next page ..... )

21



4(b) continued:
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4(c) (12 points) The dynamics of a synchronous electric generator are governed by a model
of the form
d?6(t)
dt?

+ ﬂded(tt) + asinf(t) =T(t)

where 6(t) is the (relative) angular position of the generator and T'(¢) is the (normalized)
external torque acting on it; the parameter « is positive, but § can be positive or negative.
Write a state-space model of this system. Then, assuming 7'(¢) is constant at a positive value
T(t) =T, determine for what values of T' the system will have:

(i) no equilibrium solutions;

(ii) one equilibrium solution with 6(¢) = @ in the range [0, 27];

(iii) two equilibrium solutions with §(¢) = 6 in the range [0, 27].

(Continued on next page ..... )
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4(c) continued: Write down the two linearized models computed at the two equilibrium
solutions you found in part (iii) above, expressing them in the standard form

q(t) = Aq(t) + ba(t) .

(Continued further on next page ..... )
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4(c) continued further: Determine the reachability of each of the linearized models by
checking whether you can obtain an arbitrary closed-loop characteristic polynomial by LTI
state feedback.
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Additional work:
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